233 Standard Duty

= g Fl
/ TE
e Slot\: TS TYP __INCORPORATED _ RS P
5 E 3 17| 27 3" x %" x 14" Bar ~
\'IE‘( 27| 24 % x%"x21" Bar —~
- 37 | 17| 34" x 34" x 22 3/8" Bar ~
sil | ¥ 23 1/4" " 4~ | 14 1% x1%" x %" Angle ~
—5 1] - ) 5 | 271 1% x1%"x %" Angle”
N TYP)—by 6 ~ | 2] 5/16” SS Coupling Nut ~
3/8 7 “| 17 % x%" SS Ground Stud ~
8 7 | 12 3/8”x 3" Studs —
9 7] 17 1"x3 x 1/8" Plate ~
|—| |—| S 107 17 4"x6" x 1/8" Plate -
| . 117 1-] 114" x 1/8” Washer —
37 < 1A 12 17| 14" Lift Handle ~
¢ 34172 ' 137 14 1% x w' SS Penta Head Bolt 1
{
11/2” x 1/8” Washer w/ 5/8” Hole a C 14 | 4 ]1%" x%’S5 Channel w/''55 0
\ Welded in Hol/e Lid "r’;ﬁh‘.a.\‘\ - T ys
N0 — @F) , O - ~ 35 1/4 y
N\ q) ZZ = e E
7 =
[/ E D 288
L] o 28 41 & o <
AT | g,k
(19 + LWloS5s / 3112>”
f— 6 114> = g% SEl 23347 P .
Oc=0: 34 3/4” &
/ (L 52£0| 7 /
@ %%E;P_" ‘ @/ @ /
1 O o0«
|_| ﬂ <L3=AaTa "
‘I-Jtﬁe \?v}-gluu':désﬂgl washers 7= 5.5 .'_—’JL .J_L )

s 3/16”

4“_ 6!!



FOGTTE

INCORPORATED

32"

4 #4 Rebar

/ 40" X 32"

' 3 On Each Side =~

-

44:!

J'

233 Standard Duty

™~ (1) # 4 Rebar
Wired to Std

" (3) #4 Rebar
1 3/4” Apart

233 Frame 7

5/8"~11 THREADED INSERT
" TPICAL () Puacks
3
3

4
G > 5

APPROVED

Washingicn State -
Department of Transportation

Traffic Operations Office o
EIE\)TEra EBecEm\aar 1,2009 TAT




see WSDOT fuim endwment +o

]
kS
» % v, G ‘i 5 ﬁ"m""""/\:‘
N - 16,8 ity
S = 1
) = S
N Y e [T
B ey gz ol | 1 Ve sl
\\G)% ok VO oI OV
1'-§"
\_g;m su’uguw/z'n v/ ¥ rg
SECTION VIEW SIDE
( )PULL BOX DETAIL
1" =1-0
-1
h:“ z b 107 > K
7 1] s o
[ '

OV v v oY oY oV @

©

NOTES:

1. SHOP CUT WELDED WIRE MESH FOR BLOCKOUTS. PROVIDE 3 TRIMMING BARS () & (i9)

AROUND BLOCKOUTS AS SHOWN.

E )SI/E'ELI._P#ESH ISOMETRIC

¥ THICK DWMOND PLATE VAULT ToP
(SEE DETAIL 1/S1.0 TOP DETAIL)

3w 31711 ¢PT~-| 0|
Cover - ‘si‘--«? =TS

. Standerd %pecificakions, Dec. 20 ‘ﬁ:.'.f:'cm": N M i
3-8 - For desiqn requirements £ test RQet. ‘
[ 1'=0" -0 6% 3 _[\n‘c.b((Au res &:\LQ'{'Q“:-Q -‘c m:’
\ ox +3 based an ma'recrialg
}‘_ TR |_ B NG R T R _!&q{\*‘t“""‘! nts é fQ:!:v'?QG ‘l:“ftl\c‘ls*
BB N1727:% NNANEN s/ meeks or exceeds Testmg crderia,
MR 2 VNN g
WL ATTE N I NS NN
3 o B4 | : AT i ‘l"‘ ~>>‘|
L B S L G ., i R e A B i gl 4 . lil"i ’*[‘}*I
S pdins 6. : +{'\‘nﬁ‘\. cored }vﬂ‘-b N 4 Iilgll‘r ﬁlkﬁ'.‘?ﬂ
v, N - Srame STNZRT\Z fack lap Kl i s
— o revem () twiredie Yo X3 bor. Pl Lt
Tufical & places. SN - «EIE}EI

- (\ISOMETRIC ASSEMBLY

ETiw 22T+ 5L0

Lrame- h(qua b vh)

&

DESIGN S:

APPROVED AS NOTED

Washington State
Department of Transportation
HQ Traffic Operations Office

MATERIALS:

I
DATE__Té# Q_u_&gg‘l’ -l;l-c"‘?

BILL OF MATERALS (STEEL RE-BAR & WELDED WIRE MESH) |

~ MSHTO STANDARD SPECIFICATIONS FOR HIGHWAY BRIDGES

= ACI-318-02 BUILDING CODE

~ ASTM C857 MINIMUM STRUCTURAL DESIGN LOADING FOR
UNDERGROUND PRECAST CONCRETE UTILITY STRUCTURES

150 pef CONCRETE DENSITY

120 pef SOIL DENSITY

MSHTO H-35-528 WHEEL LOAD W/30% INPACT
ASHTO LIVE LOAD SURCHARGE (2 SOIL)
EFFECTVE SOIL PRESSURE = 45 pef

NO WATERTABLE

CONCRETE — 28 DAY COMPRESSION STRENGTH f¢ = 6000 psi
REBAR - ASTM A706 GRADE 60 fy = B0 ksi (WELDABLE)
ASTM A82/A185 fy = 65 ksi (WELDED WIRE MESH)

THE ROLLS OF WELDED WIRE MESH SHALL BE STRAIGHTENED &
CUT TO SIZE BEFORE PLACEMENT.

%" DIAMOND PLATE COVER - ASTM A36 Fy = 36 ki

/ PART DECRIPTION a SIZE | SOk Ngom'm - T0P OF COVER @ GRADE
/, [©) 3 ASTM A706 GRADE 60 : SEE_DRAWING -
(2) ASTM A706 GRADE 60 6 STRAIGHT 28" = Pl
(3) |3 ASTM A706 GRADE 60 | 10 STRAIGHT 2'~4" - TYPE 233 PULL BOX (H35)
J0] 4xt — WA.0N40 1 SEE DETAL 2/51.0 -
(5) §3 ASTM AT06 GRADE 60 §  STRAIGHT 20" SCAE  SEE DETAILS |06 BY: KNT
O] 4x4 - WAOMWAD 1 SEE DETALL 2/51.0 = ST 510 |owEn R |
(7) | §3 ASTM A706 GRADE 60 5 SEE_DRAWING = & 06106 = 05.15.07
¢ (8) 4xé — WA.0W4.0 1 SEE DETAL 2/51.0 - | ————
(3) | 13 ASTM A706 GRADE 60 4 STRAIGHT 23" - FOG
() | 43 ASTM A706 GRADE 60 2 STRAIGHT 3-3" - I ITE
s
0 ove R PRI D INCORPORATED

S\DA\06106\Structural\Type 233 Pull Box — H35.dwg | Drafler Name: K. TERRELL | Plot Dote: FEB 20 2007 10:51:12 | Lost Modified Dole: FEB 20 2007 09:16:07 | Submittol: PROGRESS PRINT





